il

g
=
s
i

1. ¥¥4
B4 ST RS NASWRZ EE R R 2
JBA T PEArial) | ERE A N

2. EBEAR

1) FEF4 PeAEm) | ERE ST R B
2) BT 198 HH H 4&fn 74 8H28H

£ Sf 84 3H13H

3) wHwyI
AYETSIL, Vel | ERE BT 50 B B SR BT AR L, okt D
BREAT5 bOTh 5.,

4) FEHBNA
B, TEORREER] D LBV

o ELASEE TN



FEH N

ull
P

==
=]

EHL | BRTEE EAENREL ST ENRRTES E BOES
H H AL AR R RS
THH - T - fER] A7 # 4 % OB ORR
AL R R = 6, 166, 195
AL AR R P MR 2y 6, 166, 195
AL R R R =X 6,166, 195 | FHfEMRX M DERE
1 =X
HBHT B O o R
1 =X
FHERE T O BEE
1 =
T — & BB
1 =
AL ARG EHER,
1 =
BN R
1 =
S EER
1 A
I5m = 612, 500
im REEHER) = 612, 500
TavsE = 612,500 | ¥T&tE
1 =
B = 187, 705
PR = 187, 705
TR A E = 42,705 | kG ssme: (FEF L - i)
1 =
BB S ERCE = 145,000 | ERFSVERE
1 =

E+sZi@E SN




FEH N

%lljll
I

EHL | BRTEE EAENREL ST ENRRTES E BOES
H H ERERAM (O <)
THH - T - fER] A7 ¥ = 4 % OB ORR
EREEM (ZOMEmER<) = 1 6, 966, 400
Z DA =X 1 3, 650, 327
— B PR 2y 1 5,713, 273
SERSMRE 2y 1 16, 330, 000

-2 - E+sZi@E SN



